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QUESTION 1

Which of the following entities would NOT be configured when using a Bridged CO model? 

A. A subscriber interface on the BNG 

B. A VPLS for unicast traffic on the BSA 

C. A VPLS for multicast traffic on the BSA 

D. An Internet enhanced service on the BNG 

Correct Answer: A 

 

QUESTION 2

Which of the following is NOT part of the aggregation network? 

A. BSA 

B. BSAN 

C. B-RAS 

D. BNG 

Correct Answer: B 

 

QUESTION 3

The user-name-format command will allow different formats for the authentication request sent to the radius server.
What is the default value of the user-name-format? 

A. MAC address 

B. Tuple 

C. Circuit ID 

D. ASCII-converted-circuit-id 

Correct Answer: A 

 

QUESTION 4

What is the difference between Split Horizon Groups (SHG) and Residential Split Horizon Groups (RSHG)? 

A. The spanning tree protocol is not supported on RSHG members. 



B. An RSHG does not support spoke-SDP members. 

C. Multicast or broadcast downstream traffic is not supported on RSHG members. 

D. Anti-spoofing must be enabled on an RSHG. 

Correct Answer: A 

 

QUESTION 5

Which of the following is NOT an AlcateHucent RADIUS vendor-specific attribute (VSA)? 

A. Alc-Subscriber-Sla-Profile-String 

B. Alc-Subscriber-ld-String 

C. Alc-Subscriber-Profile-String 

D. Alc-IPv6-Prefix 

Correct Answer: A 

 

QUESTION 6

In the case of a wholesale/retail model with a subscriber session terminated at the retail BNG.which of the following is
true? 

A. PPPoE is used on the RG. 

B. IPoE issued on the RG. 

C. L2TP is used on the RG. 

D. ATMoADSL is used on the RG. 

Correct Answer: A 

 

QUESTION 7

Which of the following can NOT be used to generate a default subscriber ID? 

A. no def-sub-id 

B. def-sub-id use-sap-id 

C. def-sub-id string  

D. def-sub-id use-random-id 

Correct Answer: D 



 

QUESTION 8

To support dual stack subscribers, what is the minimum version of the IOM card on the Alcatel- Lucent 7750 SR? 

A. IOM-10g 

B. IOM-20g-b 

C. IOM2-20g 

D. IOM3-xp 

Correct Answer: D 

 

QUESTION 9

Which entity is used to identify the access loop to the PPPoE server (BNG)? 

A. Option 82 

B. Relay Tag 

C. Interface ID 

D. Loop ID 

Correct Answer: B 

 

QUESTION 10

For which entity does the command session-limit specify the number of PPPoE hosts allowed? 

A. VPRN service 

B. Subscriber interface 

C. Group interface 

D. SAP 

Correct Answer: C 

 

QUESTION 11

In the case of wholesale/retail model with an IP-VPN deployment model, where is the IPoE session terminated? 

A. At the BSAN 

B. At the wholesale BNG 



C. At the retail BNG 

D. At the Internet peering router 

Correct Answer: B 

 

QUESTION 12

What is the effect of enabling anti-spoofing on a SAP? 

A. Ingress traffic with an unknown destination MAC address is dropped. 

B. Egress traffic towards a subscriber with an unknown IP address is dropped. 

C. All traffic towards another subscriber is dropped. 

D. Ingress traffic with an unregistered source IP address is dropped. 

Correct Answer: D 
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